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Nwms: Jara: Onenka:
ox? + 9x% — 2(7x— 6x3) — 5x° x> + 6x + 3(3x3 — 3x3) — 8x?
Ox> + 9> + 2% + 4(8x + 8%) 8x° — 8 — 3x° + 5% + 6’
2(3x+ 7x2) +0x° + 3% + 8x° 6x° + 6x° — 4% + 6x — x°
9xz+x—3(6x3 — 6)(3)—x3 2% + 8 +4x% + x° — 6x
87 + 2 + 6 — 2(5x2 — Tx) A+ x* — 9x° — 8% +9x°
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Nwms:

9% + 9% — 2(7x — 6x°) — 5x2
12> + 13 — 14x

0 + 9% + 2% + 4(8x + 8x)
18x° + 202 + 64x

2Gx + 7x%) + 9 + 3x + 8x?
9> + 25 + 6x

0% + x—3(6x° — 6)(3)—x3
—> + 9% +x

8x% + 2x° + 6x° — 2(5x — Tx)
8> — 2% + 14x

Jara: Orenka:

72 + 6x + 3(3x° — 3x°) — 8x?
—X* + 6x

8> — 8x — 3x% + 5x% + 6x°
145> + 2% — 8x

6 + 60 — 4% + 6x — x°
11x° — 4 + 6x

2% + 8¢ + 4x? + x° — 6
o0 + 6% — 6x

Ax+x7 = 9" — 8x” + 9x”
—7x% + 4x
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